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PUBLIC ADMINISTRATION
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following is not a part of ‘Saptang theory’ propounded by Kautilya ?
(1) Janpada (2) Danda
(3) Mitra (4) Purohit

2. Which of the following is a feature of New Public Administration ?
(1) Positivist (2) Technical
(3) Anti-hierarchical (4) Rigid

3. Match List — I with List — II. Select the correct answer from the codes given below :

List - I List — IT
(Authors) (Books)
a. J.M. Buchanan and i. Economic Theory of Democracy
Gordon Tullock
b. Anthony Downs ii. The Economic Welfare
A.C. Pigou iil.  The Protestant Ethic and Spirit of Capitalism
Max Weber iv The Calculus of Consent : Logical Foundation

of Constitutional Democracy
Codes :
a b c d
(H ivood i i
2) v i i il
3 i i i v
4 i il i v

4.  Which of the following statement are true about New Public Management ?
(1)  Itis inspired by New Right Philosophy.
(1)) It focuses on the Entrepreneurial Government
(i11) It believes in centralized form of governance.
(iv) It considers citizens as active consumers.

Select the correct answer by using code given below :

Codes :
(1) (i) and (ii) (2) (@), (i) and (iii)
(3) (), (ii) and (iv) (4) (i), (iii) and (iv)
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10.

Which of the following is not included in the concept of 3Es that emerged of Third
Minnowbrook Conference ?

(1) Economy (2) Ethics
(3) Efficiency (4) Effectiveness

The contributors to Structural Functional Theory are
(I) Robert Merton and Harold Lasswell

(2) Herbert Spencer and Robert Dahl

(3) Robert Merton and Herbert Spencer

(4) Harold Lasswell and Robert Dahl

Consider the following statements about F.W. Taylor :

(1) He was an American Mechanical Engineer.

(i) He was one of the intellectual leader of the efficiency movement.

(111) He was the first to apply quantitative techniques to study industrial management.
(iv) He supported the principle of collective bargaining.

Select the correct answer by using code given below :

(1) (i) only (2) (i) and (ii)

(3) (i), (ii) and (iii) 4) (1), (i), (iii) and (iv)

Which of the following statements of Dwight Waldo are correct ?
(1)  There is an intrinsic tension between democracy and bureaucracy.
(i1) Politics-administration dichotomy is false.

(ii1)) Public servants must negotiate efficiencies demanded by the scientific management
movement with due process and public access to government.

(iv) Government cannot be run like a business.

Select correct answer by using code given below :

(1) (i) and (ii) (2) (i), (i1) and (iii)

(3) (ii), (iii) and (iv) 4) (1), (i), (iii) and (iv)

Which one of following is not a part of Karl Marx’s concept of bureaucracy ?
(1) Bureaucracy is a particular closed society within the state.

(2) Bureaucracy is an integral part of the exploitative social system.

(3) Hierarchy and secrecy are considered as tools of competence.

(4) As a parasite designed to maintain status quo.

Which of the following match is not correct ?

(1)  Zone of the Indifference — Chester I. Barnard

(2)  Dual Supervision — J.D. Millet

(3) Exploitative Authoritative System — Mary Parker Follett
(4) Concept of Gangplank — Henri Fayol

Paper-III 4 J-14-16
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11. Who among the following has studied the impact of computers (information technology)
on hierarchical pyramid of an organization ?

(I) Herbert Simon

(2) Peter Drucker

(3) John Pfiffner and Robert Presthus
(4) Dimock and Dimock

12. Which of the following statements about the difference between morale and motivation
are correct ?

(1) Morale is a group phenomenon while motivation is an individual’s readiness to
work more.

(i) Morale is related to the combination of various factors operating at work, while
motivation concerns to the job only.

(11) Motivation helps in mobilizing energy, but morale is related to the mobilization of
sentiments.

(iv) Morale determines the willingness to cooperate while motivation is a process to
inspire people.
Select the correct answer using codes given below :

Codes :
(1) (@), (i) and (iii) (2) (@), (i), (iii) and (iv)
(3) (i), (iii) and (iv) (4) (@), (ii) and (iv)

13.  Which one of following is not a function of staff agencies according to Mooney ?
(1) Informative Function (2) Advisory Function
(3) Planning Function (4)  Supervisory Function

14. Which one of the following is not a correct criticism of Herzberg’s Two Factor Theory ?
(1) The procedure used by Herzberg is limited by its methodology.
(2) The reliability of his methodology is questionable.
(3) Herzberg stresses only on production and not at satisfaction.
(4) No overall measure of satisfaction was utilised.

15. Procedural control over delegated legislation includes which of the following ?

(i) Prior consultation of interests likely to be affected by the proposed delegated
legislation.

(1))  Prior publicity of proposed rules and regulations.
(ii1) Publication of delegated legislation

(iv) Parliamentary control over delegation

Select the correct answer from the codes given below :

Codes :
(1) (@), (i), (iii) and (iv) (2) (), (i) and (iii)
(3) (), (ii) and (iv) (4) (i), (iii) and (iv)
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16.

17.

18.

19.

20.

21.

22.

Chronologically arrange the development of leadership theories in ascending order :
(a) Transactional Leadership Theory

(b) Great Man Theory

(c) Contingency Theory

(d) Behavioural Theories

Select the correct answer from the codes given below :

Codes :
(D) (a), (b), (¢), (d) (2) (b), (a), (d), (¢)
3)  (b), (), (©), (a) 4)  (b), (0), (d), (a)

The assumption that ‘people in organization are lazy, not inclined to work and they are
forced to work’ is attributed to

(1) Two Factor Theory of Herzberg
(2) Theory Y’ of McGregor
(3) ERG Theory of Alderfer
(4) Theory ‘X’ of McGregor

Which of the following is incorrect regarding features of democratic leadership ?
(1) Participatory (2)  Production oriented
(3) Employee oriented (4) Idiographic

Charles Lindblom and David Braybrooke in ‘A Strategy of Decision’ provided the concept of
(1) Disjoined — Incrementalism (2) Rent Seeking
(3) Bounded Rationality (4) Bureau Shaping

Who defined power as “The probability that one actor within a social relationship will be
in a position to carry out his own will, despite resistance” ?

(1) Karl Marx (2) Max Weber
(3) Robert Michels (4) Reinhard Beudix

A proposal of cut motion to reduce the demand for grants by ¥ 100 is known as
(I) Token cut motion (2) Economic cut motion
(3) Policy cut motion (4) Financial cut motion

Which of the following statements about Citizens Charter is/are true ?
(a) Citizen’s charter is an instrument of good governance.

(b) It is primarily a set of commitments made by an organization regarding the
standards of public service delivery.

(c) It should contain the vision and mission of the organization.
(d) Itis based on the principle of ‘one size fits all’.

Select the correct answer from the codes given below :

(1) (a), (b), (c) and (d) (2)  (a), (b) and (¢)

(3) (@), (c) and (d) (4)  (a)and (c)
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23. Match List — I with List — II. Select the correct answer from the codes given below :

List - I
(Ministry)
a. Ministry of Women and i
Child Development
b. Ministry of Social Justice and 1.
Empowerment
C. Ministry of Minority Affairs  1iii.
d.  Ministry of Human Resource  1v.
Development
Codes :
a b c d
(1) 1 1 il v
2) i i iv il
3) 1 iv i i
4 1 i ivo il

List — II
(Associated Organization)

The Rehabilitation Council
of India

Food and Nutrition Board

Central Board of School

Education

Central Wakf Council

24. Which one of the following departments directly comes under PMO ?

ey
2
3)
“4)

Department of Bio-Technology (DBT)

Department of Science and Technology (DST)

Department of Atomic Energy (DAE)

Department of Scientific and Industrial Research (DSIR)

25. Select the incorrect statement about the relationship between political and permanent

executives in India.

€]
2
3)
4

Paper-I111

Minister has the mandate of the people to govern.

Civil servant renders policy advice to political executive.

Policy making is the ultimate responsibility of the Minister.

Civil servant is not responsible to convince political executive in case he thinks a

policy being formulated against public interest.
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26. Match List — I with List — II. Select the correct answer by using the codes given below :

27.

List - I List — IT
(Systems of Recruitment) (Explanation)
a. Cadet System 1. Recruitment is made at young age
b. General Mental Ability ii. Recruitment to the senior civil service post
System from among outsiders

C. Expertise System iii. Recruitment is made with experience and
technical knowledge

d.  Lateral Entry System iv. Recruitment with  broad  educational
attainments and mental ability

Codes :

a b c d

(1 1 v ood il

(2) i i iv i

(3) iii v i ii

“4) iv i i il

Chronologically arrange in descending order the date of submission of reports to

Government of India by using codes given below :

(i)  Ethics in Governance

(1))  Unlocking Human Capital

(1) Refurbishing of Personnel Administration

(iv) State and District Administration

Codes :

(@, (), (iii), (iv) (@) (v), (D), (1), (i)
(3) (@), (1), (1), (iii) @ (@), (@), (i), (iv)

28. Which of the following recommendations of the second administrative reforms
commission about making a citizen’s charter effective is not correct ?

ey

2
3)
“4)

General commitments on the part of an organization should form part of the citizens
charter.

‘One size does not fit all’ should be the guiding principle.

There should be wide consultation which include civil society in the process.

Citizens’ Charter should be prepared for each independent unit under the overall
umbrella of the organization charter.

29. Which one of the following functions does not form part of the jurisdiction of a District
Collector ?

ey
2
3)
4

Paper-I111

Redress of Public grievances
Discharge of protocol functions
Allocation of official accommodations in the district

Disciplinary action, including dismissal, against the Superintendent of Police in the
district.
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(3) Torga faam-fauet e =ifew S wishan & TR QAT i 9eeT & |

(4) T AYER U & TAY SASET & ST U W FHIT & [0 ANR SIHR T
TIR fohaT STHT =16 |

frfeafEd o | i |1 U S AT FaERdT (Feide?) & SEhR 61 91 F6l € 2
(1) < TomprEdr 1 fFamor

(2) WicriT Gael it o (oIe

(3) Tt H TR STt F e

(4) 5t H gferq sreiteteh & fodeg o afed STemaieh e
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30.

31.

32.

33.

34.

35.

36.

Which of the following function is not performed by Union Public Service Commission ?

(1) Advising on the suitability of officers for appointment on promotion as well as
transfer on deputation.

(2) Recruitment to services and posts under the Union Government by selection through
interviews.

(3) Advising the government on all matters relating to methods of recruitment to
various services and posts.

(4) Determining the terms and conditions of services of the staff of the UPSC.

Assertion (A) : Training is considered as an investment more than as a cost to the
organization.

Reason (R) : Training is a tool to increase organizational outcomes.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Which one of the following statements about the composition of the NITI Aayog is correct ?

(1) It consists of Vice-Chairperson appointed by the President of India.

(2) A maximum of three members of the Union Council of Ministers to be nominated
by the Prime Minister are the ex-officio members.

(3) It does not have any full time members.

(4) It has a maximum number of two part time members from the best research
universities or organisations by rotation.

Which Amendment of the Indian constitution led to the inclusion of a new Article 21-A
that made free and compulsory education to all children of 6-14 years of age, as a
fundamental right ?

(1) 87" Amendment (2) 85" Amendment

3) 86" Amendment @) 7" Amendment

By which of the following Constitution Amendment the constitutional status is given to
cooperative societies ?

(1) Constitution (Ninety Five Amendment) Act

(2) Constitution (Ninety Six Amendment) Act

(3) Constitution (Ninety Seven Amendment) Act

(4) Constitution (Ninety Eight Amendment) Act

Which one of the committees is not linked to Police Reforms in India ?

(1)  Soli Sorabjee Committee (2) Ribeiro Committee

(3) Bezbaruah Committee (4) Padmanabhaih Committee
‘Learning about consequences of public policy’ is known as

(1) Policy Formulation (2) Policy Implementation

(3) Policy Adoption (4) Policy Evaluation
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31.

32.

33.

34.

35S.

36.

T Aieh e SENT ETeiad | 9 58 s bl T8l il ¢ 2
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ATUHAT (A) ¢ TITRIOT <l e ol AT & 2Tk Ueh et 6 &0 1 foar Sran € |
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YA

(1) (A) T (R) I T&l & 97 (R), (A) i Tl A& |

(2)  (A) T (R) SHT Tel & R (R), (A) T Tel AR Tl & |

(3) (A)TEE R (R)THTE |

4) (A THTE W (R) T T |

et 2T & e % Gay | frfaiad § @ i |1 wuT WY 0

(1) TT9 IRA % AT FRT g SU-THHAT 2l & |

(2) T H GRT TG e HEURTE o SehdT 3 TS T IS 99 B © |

(3) THH T YUTHICI TS el &l & |

4) ?gﬁ%ﬁwﬁ%ﬁﬂﬂ 3TEY Tavafaaerdr a1 Gie ¥ Afwdy 37 eIl 95
|

IR Gae o fohg TeNeH RTS8 21-37 ¥et fohar T, 518 6-14 3T ay o @t =
% T ST TOT8T i Uk HifeTeh SR S foha 2

(1) 87ar Femes (2) 85at weIEA

(3) 8631 HRIE (4) 74 HET

HehR! HHTET Bl GaUT-eh 11 itehd § & T Harerfer Geie= g fear mr 2
(1) 959 Ao TeTe Afataw (2) 969 gy FmE afTIH
(3) 979 Wi GeME Itutaw (4) 989 iy A AfafTaq

frfated & 9 i d Qrafd TR ¥ 9o Quri § qeet-ad el & 2

(1) et FesT |t (2) =R afta
(3) ST FHETd (4) TREATHET Gl
e A o INOTHT & HiE= sl (=ihd § 9 o1 ed & 2

(1) i FHfor (2) i e
(3) Hifa emyE (4) Hifd g
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37. Harold D. Lasswell’s vision of Policy Science is

(1)  Multidisciplinary (1)) Contextual

(iii)) Problem Oriented (iv) Explicitly Normative
Select the correct answer by using the codes given below :

Codes :

(1) (i) and (iii) (2) (i) and (iv)

(3) (i) only 4) (), (i), (iii) and (iv)

38. Match List — I with List — II. Select the correct answer from the codes given below :

List - I List - IT
(Concepts) (Definitions)
a. Policy 1. Process of assessing impacts of a policy
Implementation
b. Policy Evaluation ii.  Evaluation by policy’s measurable outputs and
outcomes
c. Policy Outcomes iil.  Actual effects that policy outputs have on society
d. Policy Empirical iv.  Steps taken to put a policy into practice
Dimension

Codes :
a b C d
(H i ii i iv

(2) 1 iv i1 1
3) v 1 i
“4) v 1 i

39. Which one of the following is correctly matched in terms of public policy ?
(1) Amitai Etzioni — Mixed Scanning
(2) Charles Lindblom — Normative-optimum model
(3) Yehezkel Dror — Incremental model
(4) Jane-Erik Lane — Disjoined Incrementalism

40. Howlett and Ramesh (2003) conceived a ‘five steps’ policy cycle. Four of such steps are
given below :

(1)  Decision Making

(i) Agenda Setting

(11) Policy Formulation

(iv) Policy Implementation

Arrange the correct sequence of these steps by using codes given below :

Codes :
(1) (@), (i), (iii) and (iv) (2) (i), (i), (i) and (iv)
(3) (i), (1), (ii) and (iv) (4) (@v), (ii), (iii) and (i)
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37.

38.

39.

40.

e . wrael & i e & S &

(i) g (i) wETF

(i) TEET-SgE (iv) TTH T ¥ D
T 3T T P T TerdT  FE [aehed 1 ThT P

%

(1) (i) =& (iii) (2) (i) T (iv)

(3) e (i) @ (), (i), (iii) T4 (iv)

Tt — T ot il — 11 & gafera sitig | = 5T 70 52l | Tl 3o ol 5= Hi ;
= -1 = - 10
(FTIROTTY) (afrumaTd)
a. i wEFEEE i. i % T % STeRet e i kAT
b.  ifd goaiw ii. ifq = A @ FEd (SarR) R aiems g
TodTeh
c.  Hifq uRomm iii. T T T HHST W UgHaTel artas 3T

BIGREEEICED iv. gt Fifd = o] 37 % folg e T #eq

A
£
a b c d
(H 1 ii i iv
(2) i v ii 1
3) iv 1 mi il
4 v 1 ii 1ii

Stk it & Graf-ue Frifed o @ S 91 37 el § 2
(1) e westret — TR whm

(2) =Y fevesdm —  Amfed-ifeny ufaae
(3) et X —  ZeprHvEH UiqH

(4) SAIRETH - e GhHvfesH

TISeie 31T T (2003) 5 Uh “UrF TR Aiq =eh 1+ fopan g Fefatad ar &y
IMHA T

() T o (i) =g R

(i) =ita FwT (iv) it srErEa

At et i1 STANT X g S AT I ShHas T ¥ SHaId HitT :

B

(1) (@), (i), (iii) 3R (iv) (2) (i), (i), (i) R (iv)

3) (i), (), (i) 3R (iv) @) (@iv), (i), (i) 3R (i)
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41.

42.

43.

44.

45.

The formulation of useful hypothesis involves :

(1)  Clear understanding of theoretical framework.

(1) Ability of the researcher to utilize theoretical framework logically.

(ii1)) Acquaintance with the research techniques so as to phrase hypotheses properly.
(iv) The researcher also utilizes moral judgements

Select the correct answer by using codes given below :

(1) (1), (i), (iii) and (iv) (2) (i), (i) and (iii)

(3) (i), (ii) and (iv) 4) (i), (iii) and (iv)

The form of research study aiming to ascertain the salient fields problems and important
variables involved in it, is known as

(1) Field study (2) Empirical study
(3) Pilot study (4) Case study

Any technique for making inferences by objectively and systematically identifying
specified characteristics of message, is known as

(1) Exploratory Analysis (2) Descriptive Analysis
(3) Content Analysis (4)  Subject Analysis

Which one of the following statements framing a questionnaire is inappropriate ?
(1)  Question should always be short

(2) Each question should address a single topic

(3) Avoid using words that are common and in everyday use

(4) Frame such question that respondents can answer knowledgeably

Given below are the statements regarding interview method of data collection

(1) Itis a flexible approach.

(i1) It is not economical.

(1) There is normally a need for thorough training and skills in the interviewer.
(iv) There is likely incidence of emotional involvement in an interview process.
Select, which of the above statements are considered as limitations of this method.
Codes :

(1) (i), (i) and (iii)

(2) (i1, (iii) and (iv)

(3) (i), (i) and (iv)

4) (i), (i), (iii) and (iv)
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41.

42.

43.

44.

45.

T YA IYFHEIT & UTqUIE & Fag | (Hfeiiad st o) foer sifs

() g I B W GH BT AET |

(i) Q5T e T dlfeheh T ¥ SUART HA & IEHeAT bl &TAAT BHT T |

(il) 9T TAHIhT ! STFEHRT BT T ik ST bl 3rad dlieh § T fohar ST T |
(iv) VTehdT Aifdeh forees = ot STAT T € |

e 753 T el bl TerIdT ¥ Tel TR BT T BT

(1) (), (i), (iii) 2R (iv) ) (), (i) 3R (i)

3) (), (i) 3R (iv) @ (i, (iii) 2R (iv)

MY 3T S Ueh &Y STHehT 3299 THH INHA [o9i &1 onal ad7 Fewayul =’ &l qal
AT E | F W R et § 2

(1) &F 37 (2) e e
(3) UEAE T (4) S eraaa

TR ! Taffeee fomiomaret =i foret IR shies Tea o Fohy b =6l deb-ieh i fha T
T ST A1 E 2

(1) 39U TaeiooT (2) TUHTHSE faveTToT
(3) fomaEg foveror (4) Toug fagermor

Tk SeTEe & T # fefelad § 9 iR o1t e 3 § 2
(1) U= EHIM e BT =T |

(2) U U FRT U [aug ol Gaird {ohar ST =ifey |

(3) WM 3R M WA T A Vsl % UFT 9 ST e |
(4) U U S AT ST TR STRET giaga | < 9 |

e 3iieheT Tehet i AETIehR (a1 & Faie | e 53 T §

() TEUHTIIUTHE |

(i) Te fpwad =i ¢ |

(iil) FTHT: HTETChRERAT o T UITET0T UE ShivTel i SMEwashdl il & |
(iv) Tordl TTeTTen T Ufshan § WrecHeh oTe &1 &1 9T 8l ¢ |

ST e H 9 5 fafy st e qHe S €S9t 93 Hifu

£
() (@), (i) AT (111) (2) (1), (i11) AT (iv)
3) (), (ii) 3 (iv) @ (), (i), (iii) 3R (iv)
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46. What should be there in a good title of a research report / research article ?
(1) It should be specific.
(i1) It should be able to grab reader’s attention.
(ii1)) It should be cute.
(iv) It should be brief however not in abruptly manner.
Select the correct answer by using codes given below :
(1) (i), (ii) and (iii) (2) (i), (ii) and (iv)
(3) (i), (iii) and (iv) 4) (i), (i), (iii) and (iv)

47. Which one of following is not correctly match about classification of research in
Comparative Public Administration by Farrel Heady ?

(1) Modified traditional : Descriptive comparison of administration in
Western Countries
(2) Development : Problems of Public Administration in context
oriented of socio-economic and political change.
(3)  General System : Study of administrative systems in overall
Model Building contexts of their social environment.
(4) Middle-range theory : Concentrate on overall components of

administrative system

48. What is correct regarding the characteristics of Development Administration ?
(a) Itis goal oriented. (b) It is change oriented.
(c) Itis people oriented. (d) It is procedure oriented.
Select the correct answer by using the codes given below :
(1) (a), (b) and (c) (2) (a), (b)and (d)
(3) (b), (c) and (d) (4) (), (c) and (d)

49. ‘The extent to which discrepancy exists between formal structures and actual modalities,
between the prescriptive and descriptive, between impressions and real practice’ is known

as
(1) Heterogeneity (2) Overlapping
(3) Formalism (4) Ideographic

50. Which one of the following is not correct about the U.S. Congress ?
(1) Itis a bicameral legislature.
(2) The term of House of Representatives is 4 years.
(3) Members of Senate are elected for 6 years.

(4) Each state have equal representation in the Senate.
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46.

47.

48.

49.

50.

feplt S e/ SFIRaT SToTa & 3Te 3o o o FRINaTt B = 2
(i) 9 GO g =meu |

(ii) T e I T STHOT H aTel BT =T |

(il) =& AT BT A |

(iv) U T 8T TIeT, WX faoe a1 SR el |

e 7521 el ol W ¥ WEl IR A 9T Hif

() (i), (i) 3 (i)

) (i), (i) 3 (iv)

(3) (i), (iii) 3 (iv)

@ (), (i), (i) 3 (iv)
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THferd & € 2
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(1) (a), (b) 3 (c) ) (), (b) 3 (d)
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fo1g ofvmmor 7 ienfies §TEAT qen ardfas SR & i, SeTeHeRdr a9 f[garueTs & 9,
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S1.

52.

53.

54.

5S.

56.

Which Prime Minister of Britain established a cabinet secretariat to organize the business
of the war cabinet and to serve the committee of Imperial Defence ?

(1) Lloyd George (2)  Sir Robert Walpole

(3) Winston Churchill (4) Bonar law

World Trade Organization (WTO) replaced which one of the following ?
(1) General Agreement on Tariffs and Trade (GATT)

(2) International Bank for Reconstruction and Development (IBRD)
(3) Food and Agriculture Organization of U.N. (FAO)

(4) International Fund for Agricultural Development (IFAD)

Assertion (A) : Inthe U.S.A, efficiency rating is a regular part of Personnel management.
Reason (R) : Efficiency records are used for determining promotions.

Select the correct answer using codes given below :

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Which of the following statements is not correct regarding the focus of New Approaches
of Development Administration (1990s) ?

(1) An enabling administration

(2) Management culture

(3) Micromanagement

(4) Decentralization and Managerial Autonomy

Which one of following is not a creation under Civil Service Reform Act 1978 in U.S.A. ?
(1) Federal Bureau of Investigation

(2) Office of Personnel Management

(3) Federal Labour Relations Authority

(4) U.S. Merit System Protection Board

The theory of social change should include which of the following elements ?
(1)  Structural aspects of change
(i1) Process of social change

(ii1)) Mechanism of social change
(iv) Directions of social change
Answer by using codes given below :
Codes :

(L @, (1), (i)

(2) @, (1), (i), (iv)

(3) (), (i), (iv)

) (@D, (i), (iv)
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S1.

52.

53.

54.

5S.

56.
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(1) (), (i), (iii)
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@) (), (i), (iv)
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57.

58.

59.

60.

61.

Which one of the following commission is not under the control of the Ministry of Social
Justice and Empowerment ?

(I) National Commission for the Scheduled Castes
(2) National Commission for the Scheduled Tribes
(3) National Commission for Backward Classes
(4) National Commission for Safai Karamacharis

A statutory National Commission for Minorities was constituted for the first time in the
year

(1) 1992 (2) 1993

3) 1994 (4) 2000

Which one of the following is not a goal in Millennium Development Goals, 2000 ?
(1) To ensure environment sustainability

(2) To promote gender equality and to empower women

(3) To provide housing for all

(4) To achieve universal primary education

Match List — I with List — II. Select the correct answer from the codes given below :

List - I List — IT
(Name of PSUs) (Type of Organization)
a. Life Insurance Corporation of India 1. Government Company
b. Hindustan Machines Tools Ltd. ii.  Co-operative Institution
C. Indian Farmers Fertilizers Corporation  iii. Department Undertaking
d.  Railways iv.  Public Corporation
Codes :

a b C d
(H i ii i iv

2) 1 1 v il
3) v 1 i
4) v m i 1

Changes introduced in the EXIM policy in the post liberalisation period aimed at
(a) Unshackling of controls

(b) Simplifying procedures

(c) Bringing down transaction costs

(d) Creating an atmosphere of trust and transparency.

Select the correct answer from the codes given below :

Codes :
() (a), (b) and (¢) (2) (b), (¢) and (d)
(3) (a), (b), (c) and (d) 4) (a), (c)and (d)
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60.

61.
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62.

63.

64.

65.

66.

Which of the following factors have added to the rise of significance of the issue of urban
development in India in recent times ?

(1)  Constitutional amendments and imperatives of reform agenda.

(1)) External funding agencies supporting reform programmes.

(1i1) Pumping of huge funds for urban development under Central Government schemes.
(iv) New approaches to revenue generation as well as financial management mechanism.
Select the correct answer from the codes given below :

Codes :
(1) (@), (i) and (iii) (2) (@), (i), (iii) and (iv)
(3) (@), (iii) and (iv) (4) (i), (iii) and (iv)

Part IX-B of Indian Constitution is related with which of the following ?
(1) The Panchayats (2) The Municipalities
(3) The Co-operative Societies (4) The Scheduled and Tribal Areas

Which of the following factors impede the successful performance of functions by the
urban local bodies ?

(1)  Multiplicity of authorities and lack of co-ordination among them.

(i) In some states public service delivery like water supply is performed by para-statal
bodies, responsible to the state government instead to the urban local bodies.

(ii1)) Lack of required resources and expertise for planning for economic and social
development.

(iv) Assured political stability to the municipal governments under the 74" constitutional
amendment.

Select the correct answer from the codes given below :

Codes :
(1) (@), (i), (iii) and (iv) (2) (ii), (iii) and (iv)
(3) (), (i) and (iii) (4) (i) and (iv)

Which of the following provisions in Part IX of the Constitution is not the discretion of
the state government ?

(I) Powers of the Gram Sabha

(2) Powers, authority and responsibilities of Panchayats

(3) Powers to impose taxes by the Panchayats

(4) Direct election to seats at all the three tiers of Panchayats.

Which of the following is not the objective of social audit ?

(1) To enhance the efficiency of the local development programmes.
(2) To raise awareness among the beneficiaries of programmes.

(3) To establish democratic values and good governance.

(4) To replace the existing audit system.
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67. Which of the following are the aims of rural development ?

(1)  Bridging the rural-urban divide

(i) Guaranteeing wage employment and ensuring food security

(i) Ensuring dignified living

(1v) Restoring lost or depleted productivity of the land for better livelihood opportunities.
Select the correct answer by using codes given below :

Codes :

(1) (i) and (iv)

(2) (ii) and (iii)

(3) (i), (i) and (iv)

4) (i), (i), (iii) and (iv)

68. Which of the following was not one of the suggestions given by the Ministry of Urban
Development and Poverty Alleviation to the 13" Finance Commission ?

(1)
2
3)
4

Urban local bodies should never be given powers to issue municipal bonds.
Unproductive and non-viable taxes should be abolished.

Performance budgeting and social audit should be introduced.

Borrowings can be one of the primary sources of capital funding for municipalities

69. Which of the following statements about the importance of the State Finance Commission
in the scheme of fiscal decentralization is correct ?

ey
2

3)
4

Arbitrating on the claims to resources of the state government by the local bodies
makes the state government more accountable.

The recommendations impart greater stability and predictability to the transfer
mechanism.

The accepted recommendations of the SFC are fully implemented.
The SFC invariably consists of people of eminence and competence.

70. Which of the following are true regarding National Development Council (NDC) ?

@

(ii)
(iii)
(iv)

Provides a forum to discuss formulation of plan.
Approves a plan before it is presented to Parliament.
Considers social and economic policies from regional point of view.

Promotes collective thinking and joint action.

Select the correct answer by using codes given below :

ey
2
3)
4
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(1), (i1), (iii) and (iv) are correct
(1), (i1) and (iii) are correct
(1), (i1) and (iv) are correct
(1), (iii) and (iv) are correct
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71.  Which one of the following models is not directly related to policy implementation ?

)]
2)
3)
4

The mobilization model (Cobb et al)
Top-down models (Pressman and Wildavsky)
Bottom-up models (Lipsky)

Hybrid models (Mayntz)

72. Which one of the following is not an aspect of policy analysis ?

(1)
2
3)
4

Identification of objectives
Strengthening policy formulation
Specification of alternatives

Monitoring policy outcomes

73. Which of the following is not correct regarding the Ministry of Women and Child

Development ?

(1)

2
3)

4

It is the apex body for formulation and administration of rules and regulations

relating to women and children.

It came into existence as a full-fledged ministry on 30™ January, 2006.

Before becoming a Ministry, it was a department under the Ministry of Social

Justice and Empowerment.

Kisori Shakti Yojana is one of its schemes for girls nutrition.

74. Which of the following is incorrect about the Cabinet Ministers in U.K. ?

ey
2
3)
4

Minister’s actions should be lawful
Their actions are largely governed by conventions.
They are accountable to the Parliament.

Ministers are not accountable to Prime Minister for their actions.

75.  On which of following date 73" Constitution Amendment Act came in force ?

ey
3)
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22" December, 1992 (2) 1% April, 1993
20™ April, 1993 (4) 24™ April, 1993
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